071-011( B-124) (1/1)

071-011

cm
10|20
10(20|30
0 10 20 30 40 50 60
E YA =
F [VAVAVAVAY] =
E AN =
E (VAVAVAVAY] =
- AN 3
= (VAVAVAVAY] 6 6 =
AANAN 1.00] ¢ 6 5
(VAVAVAVAY] 30 30 =
AN
VAV 1.30 =
AN =
(VAVAVAVAY] 3
YAVAVAVAS 2.00 3 3 =
(VAVAVAVAY] =
AANAN 30 30| 4 =
VAVAYAYAY] 2.30 E
AN =
[VAVAVAVAY] =
IAVAVAVAWAY 3.00 5 5 =
\VAVAVAVAV] 1/ / -
AAAAN 30 30| 4 E
VAV 3.30 =
v =
Raie AN =
[VAVAVAVAY] 4.004 / =
AN =
VAVAVAVAY] e 0f 17 3
AN : =
(VAVAVAVAY] =
NN E
NNHNY ) 7 7 E
VAAAI . 30| 4 =
5.60 5.60/ AN 3 E
6.13
6.00| 2 2 =
/ / -
—_— 30 0| 2 =
6.30 3
7.00| 2 2 =
/ / -
30 0| 2 =
7.30 =
7.70 2.1 =
8.00| 6 6 =
/ / -
30 0| § =
8.30 =
9.00

9.80 2.10-

10.00| 18 18 =
/ / N 3
30 30| 19 =
10.30 \ =
10.90 1.10 11.00 9 s I E
30 30| s T =
11.30 =
12.00| 50 50 =
/ / 3
30 0| 5 =
1230
12.90 2.0 =
14.00| 32 32 =
== / / -
30 30| 32 / =
1430 =
15.00] 24 24 =
= 7/ / -
30 30 | 24 =
15.30 =
15.60 2.7 =
16.00 23 23 =
== 7/ /
16.20 0.60 A Il A 3




